Pull of x for PV

Ratio

Pull of y for PV

Ratio

Pull of z for PV

Ratio

] x i g
i T 0 $ 7
P MESURE SO OO 00 1 3 1 1 N A S SRS USSR SRt N MO0 SOPUS S0 WO OO0 SOUOS: | RO JOOO0 SO
- N N N N N N N N N N N N N N o - N N N N N N N
N NN NN A g T T I R O
A SR 1 RS ROIE S S S S 2 o A
L : : T | : : L : : : : ; : 13 ! 5
P S A o 1 Lapbe g %"“?““ < :
B g RE SR wﬁﬂ t S g
S 5 L R F"""""""ﬁ'"' a :
A I | 0 R S { | vt e AR
[ | OO SUOR SO SR SO S
O R N P R o i,

1.4

PV £

o 08F o i
o Lo T : @ 1.05Fc-e-heeeians
a4 [ o4 ||| L» L1l @ E
bl ﬁ
[ J #H’T TI 1| 0.95F +-xekernnrhans o SRREEE:
] R 0 M & L : PN SR N F 00 M | N O
0T 0 5% 10 1520 050 =15-10 -5 0 5 10 15 20

Vertex z (cm) Vertex z (cm)

Pull oty [N9
N

1.8

1.6

vafbo it L4

Pull of y for merged vertices

R

AP T T | T T ||||||| TS P A [T AR T P P
LUE : | 1 T b 0 9o v : g + o o > : : D b Eed R :
1.2F SR S F il : 5 R
P S 1l~~&"-?x %%Hv@Pl -

I ik LI L - ﬁ i T
oF H i n k dall] b H =L H I; i 9 N N €I N | N N
995 =15=10 -5 0 5 10 15 20 095 —iE 10 5B 10 15 20 095 =15=10 -5 0 5 10 15 20
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